kivett tertlet (1/a)
EOV koordinatak
pontszam Y X

1015 693685.284 208762.966  24.825
1016 693710.104 208762.456  24.860
1017 693711.759 208737.651  29.533
1018 693682.429 208741.109  22.043
1015 693685.284 208762.966 0.000

Terllet = 632.87 m?2

kivett terulet (1/b)
EOV koordinatak

pontszam Y X

1001 693669.414 208682.331  45.337
1002 693713.929 208690.926 51.702
1003 693705.835 208639.861  43.657
1004 693666.885 208659.579 22.892
1001 693669.414 208682.331 0.000

Terllet = 1569.82 m?

Tamogathat6 terulet = 1- (1/a+1/b)

T=1.84-(0.06+0.16 )= 1.62
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